VAV (47 (-41)) = 1/64 = .015625
4/41 = 1/60 = .01666...

4A4 = 16/625 = .0256

VA (4IA(-4)) = 1/24 = .041666...
V(4A(-4)) = 1/16 = .0625
VA/A/(4A41) = 8/125 = .064
J4/41=1/12 =.08333...
4/4=1/10 = .1

VAV (BA(-41)) = 1/8 = .125
4% 4 =4/25=.16

4/41=1/6 = .1666...
4/\4=1/5=.2

V(47 (-4)) = 1/4 = .25
V(4*4)=2/5=.4

44 =11/25 = .44
J4/4=1/2=.5
4+.4=4/5=.8

44 =8/5=1.6



JAr4=12/5=2.4
JV(4A(-4)) = 5/2 = 2.5

4-.4 = 18/5 = 3.6

4.4 = 22/5 = 4.4

V(4A(-4)) = 25/4 = 6.25

41%.4 = 48/5 = 9.6

VAV (AA(-41)) = 125/8 =15.625
41-.4 = 118/5 = 23.6

414+.4 = 122/5 = 24.4

AN(-4) =625/16 = 39.0625



